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Kw =1.2x107 0.1'° 107%%%%n (7.9x10°T? — 1.9x10°T — 0.21)

o pm  0.04gcm®
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(8.3-9) - pH(pHo)
pH pH  pHqy

pH  pHq

pH, =3.9-1.8-log,,[i]+0.55-l0g,,[Cl] - 0.88-10g,,[C] +11Tﬂ (8.3-9)
i : (Alem?)
Cl : (mol/l)
C : (mol/l)
T : (K)

(8.3-9)

1x107 <C, 3x10°* <Cl<3x10"'1x10°<i<25%x10° ,29315<T

(8.3-10)
j - 4FDCo, (83-10)
o
[ ; (Alcm?)
F : (C/moal)
D ; (mol/s)
Coz ; (mol/cm?)
o) : (cm)
b
0.1mol/l 0.027mol/I
730
0.5mmly @
c
21
Ecorr(t) EI_SCC(t) Eu_SCC(t)
(8.3-11)
El_scc (t ) < Ecorr (t) < Eu_scc (t) (83_11)
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Eeor (1) (V vs. SHE)

Fraell) (V vs. SHE)
Buse (V) (V vs. SHE)
® Eu_scc(t)
pH
(8.3-12)

E, (1) =0.78+(26x10™* + 2.0x10™*log, [HCG, (1)] - 4.0x10 pHE) - T ¢)
(8.3-12)
Pt (V vs. SHE)

HED: © (mol/l)

pH(®) oH

T(t)
ot E,_scc(t)
(8.3-13)
E, 1oo(t) = 0.12+(35x10 = 2.0x10* - pHE))- T (1) (8.3-13)

Rl (V vs. SHE)
pH(t) oH

T(t)

@

2 ®
10pmly >
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8.3.3

2.25
225
8.3.2
10 400 4,000
Stage |
Stage |l S
8.3-6
22
Mg
Mg 10 mol/I
Stage | @ 23
Ca Mg
223
pH 115 Ca Mg
Ca
23
analcime NaAlS,0; H,O
@ pH11.5
® pH 115 Stage |
8.3-6
Stage | [Mg]>103M pH>11.5 0.013 g/m?/day
Stage 11 [Mg]<103M pH<11.5 0.0016 g/m?/day
83.1
8.3-6
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834

8.3.1 10
Cs Se
K° y
Se(solid) + H" + 26 = HSe
a
a(HSe) =K° a(Se) a(H") a(e)
HSe
[HSe] = a(HSe) = ppse)
0.1M
(€
0.6M
3.5M SIT®
831 pH pe
a GCs
Cs'
Cs
Cs
b Se
Se(cr) 8.3.1
HSe Se”
®
Se(cr) + H' + 26 = HSe™ logk® = -7.62
Se(cr) + 2" = Se* logk® = -22.42
2Se(cr) + 26 = Se)” logk® = -19.56

-871-

(8.3-14)

(8.3-15)

(8.3-16)

Debye-Hiickel

(8.3-17)
(8.3-18)
(8.3-19)

Davies



3Se(cr) + 26" = Sey” logk® = -17.29 (8.3-20)
4Se(cr) + 26" = Se” logk® = -16.67 (8.3-21)

mSe(cr) + nH+ + 2" = H,Se,( 2 (8.3-22)

Se

log[Se] = -n pH - 2pe + 1ogK® - logy (8.3-23)

Se pH pe 8.3.1
pH pe Se y ST

log y=—2°D +&(M*,N") I, (8.3-24)
0.509/Im

D=——— (8.3-25)
1+1.5JIm

Im 831
£ Na @
0.509

logy \/_ -0.011,, (8.3-26)

() 11151
0.509

logy 2, —4x ‘/_ -0.031, (8.3-27)

(Sen™) 1+15J1,
8.3-46
Se/” pe
10M (8.3-23)
Se
Se
Se Se HSe
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(a) 4,000 (b) 31,000

(c) 41,000 (d) 69,000
8.3-56 B
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(a) 4,000
8.3-57

(b) 100,000

(a 4,00 (b) 100,000
8.3-58 D
8.3-59
5 No.1 No.5
0.05m 8 No.1, No.6 No.12
0.05m 7 No.6 No.12 No.1
A
1.5E-6 m/y 2 A 1.3E-4
m/y B
4,000
4 1.6E-3 mly
B B
4,000 10 14E-3 mly B
C 4,000 10
3.6E-5 mly D 2
2 3
10 8.8E-6 m/y
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BKRT—ZA KRy —RA
161 161
1E-2 1E-2
= —4—averageNo.1-5 = ——No.1
E 163 —=-No.1 E 13 o-No.6
= = ——No.7
.g —#&—No.2 'g ——No.8
3 164 ——No.3 o 184 ——No.9
L) 1)
 1es =He=ho.4 £ 165 ——No.10
H ~o-No.5 2 ~#-No.11
1E-6 E i 1E-6 —ﬁ —#—No.12
1E-7 ‘ 1E-7
1E43 1E+4 1E+5 1E43 1E+4 1E+5
Time(y) Time(y)
BKRT—ZA BKRT—ZA
1E-1 1E-1
1E-2 —e—averageNo.1-5 1E-2 No.l
3 3 '
< —#-No.1 <
£ 1E3 £ 13 —o—-No.6
= —4—No.2 > —+—No.7
£ g —No.8
3 164 G o  —<No3 3 14 | :
[ ——No.4 v ~——No.9
——No.10
£ 1es —o-No.5 £ s =m=
E 2 No.11
1E-6 1E-6 —#—No.12
1E-7 ‘ 1E-7
1E43 1E+4 1E+5 1E43 1E+4 1E+5
Time(y) Time(y)
KR —28 &XKFRYr—2B
1E-1 1E-1
1E-2 /)\ —e—averageNo.1-5 1E-2 No.l
E —&-No.1 E NQIG
£ 1E3 £ 183 —o—No.
i / —a—No.2 > —+—No.7
o ‘S
2 1E4 —=No.3 S 1ea —No.8
E / / ——No.4 E ——No:3
g 1E-5 —o-No.5 g 1E-5 —o—No.10
: ——y/ : Ten
186 e —Y 186 Nl
1E-7 : 1E-7
1E43 1E+4 1E45 1E43 1E+4 1E+5
Time(y) Time(y)
@ No.l1 No. (b) No.1, No.6 No.10
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BKRT—ZB BKRYT—2ZR8B
161 161
1E-2 1E-2 ——No.1
= /H‘\ | —e—averageNo.1-5 = —=No.G
> -— = o—No.6
% 1E-3 -m-No.1 ;E» 1E-3 ——No.7
8 s ——No.2 g . —No.8
% ’ =>¢No.3 % i ~——No.9
£ 1es5 ——No.4 § 165 ——No.10
g g —#-No.11
< ~o-No.5 <
1E-6 1E-6 ~#—No.12
1E-7 : 1E-7
1E43 1E+4 1E+5 1E43 1E+4 1E+5
Time(y) Time(y)
BART—2RC RA R —RC
1E-1 1E-1
1E-2 1€-2 ——No.1
= —e—averageNo.1-5 = —o-No.6
E 13 —-No.1 £ s ——No.7
&= b &
- /0/._' ——No.2 g . — Nos
% / —<—No.3 % ——No.9
g 1es % —No.4 g 15 / ——No.10
g g —#-No.11
< ~o—-No.5 <
1E-6 1E-6 —+—No.12
167 ‘ 167
1E43 1E+4 1E+5 1E43 1E+4 1E+5
Time(y) Time(y)
KR —RD KR4I —RD
1E-1 1E-1
1E-2 1E-2
= —4—averageNo.1-5 = —o—No.1
~ ~
£ 1e3 Q -m-No.1 E 1e3 ~o—No.6
£ _/\1 ——No.2 £ ——No.7
® 2 ~——No.9
& —+—No.4 &

g 1E-5 © § 1E-5 ——No.10
< oo < ~m-No.11
1E-6 1E-6 ﬂ )

—4—No.12
1E-7 . 1E-7
1E42 1E43 1E+4 1E+5 1E+2 1E43 1E+4 1E45
Time(y) Time(y)
@ No.l1 No. (b) No.1l, No.6 No.10
8.3-59 2/2
No.l1 No.5
GSRW-PSA GSRW-PSA Casel 10
Caseb, 6, 9, 10
5
No.l No.b 8.3-60
> Casl, 3,7 4,000 1.5E-6 mly A
> Case2, 4,8 4,000 1.3E-4 mly A

» Caseb

B
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3.2E-6 1.6E-3mly



» Caseb B 3.6E-5 1.4E-3mly

> Case9 C 6.0E-6 3.6E-5mly
> Casel0 D 5.2E-6 1.4E-5mly
Caxb Caseb 0.01
1E-2
E
5 1E-3 >
13 ——FEKFET —2A
ﬁ 1E-4 .
= ——[&INRT — 2B
® e ——BEKRAT — 2C
E —o—[&IKRT — 2D
E 1E-6 0 | _aEkRT—2A
- ——BKFRT— 2B
1E-7 :
1E+2 1E+3 1E+4 1E+45
A5 EAEED SO B8R ()
8.3-60
MIG2DF
2 GSRW-PSA
1 1
A
2 A 13E4my 2
B B
4 1E-3 mly
Se-79 Cs-135 0.01
Casel 10
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8.3.6

831 835
GSRW-PSA®®@
Appendix -C
a
GSRW-PSA
23
€)
b
8.39
Appendix- C
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8.3-9

(
oP
(9/m?/day) mol/L (m?/s) (m*/kg) - m/y)
Cs Cs 2.8=<107% Cs 0.15 "
! Se Se 2.2=<107% Se 0.031 039 15><10
cs Cs 2.8%<107%° Cs 9210
2 Se 86107 o 22100 Se 0,058 04 13x10™ *1  83-11
> B
37=<10%*1 | ¢~
Cs Cs 30107 Cs 0.092 "
8 Se Se 261070 | Se 00084 0017+3 | 04 15>10 3 83-13
Cs Cs 3110 Cs 0.001 M
4 Se Se 2510 | Se 0013 0038*3 | 04 1310 "3 8313
Cs 2.8><10% *2  83-12
5 Cs 10=10° *2 |Cs 1.0%<10™ 0.15 *4 03 32x=10° *3  83-13
Se Se 2.8x1071° Se 0 0.033 *3 ' 16107 *6 *4  83-14
4,000 9.3%10° *p “6  83-16
00016 cs Cs 3.2%107% Ce 10x10% :; ggﬁ
-9 S 1.0x -5 o=
6 Se 4.0>10 81':1010_12 5110 *4 036 ffxltc_’g v |3 8313
x< >
85x<10%*1 | °¢ > o Se 0 0.047 *3 ’ *4  83-14
11107 *2 *6  83-16
Cs Cs 2.8=107% Cs 0.16 "
! Se Se 2.2=<107% Se 0.035 039 15><10
cs Cs 2.8%<107%° Cs 9310
8 Se 7.0><107° o 22100 Se 0,059 04 13x10™ *1  83-11
> B
34x10%*1 | ¢ %
Cs Cs 30107 Cs 0.08 6.0>10° N
’ Se Se 31107 Se 001 032 36x10° *g | ° 83718
*3  83-13
10 Cs Cs 36><10™ | Cs 0.029 0087 *4 | 029 040 52107 *4  8.3-14
400 Se Se 4110 | Se 0.0023 0007 *3 *5 14>10° *6 |*5 83-15
*6  83-16
8.3.3 [Mg] [Cal
pH
-3
[Mg] < 1.0><10"mol/l pH<11.5
2
Stage 0.0016g/m/day
-3
[Mg] > 1.0>< 10" mol/l pH 115
2
Stage  0.013g/m“/day 8.3.3
- 10
2
Stage 0.0016g/m*/day
8.3.2 1 9
4,000
1 9 4,000 10
400
10 400
1
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8.3.4 Se 10 Se®
2,6,8 1x10™ mol/l

1x10* mol/l Cs
Cs Se
1x10™* mol/l 2,6,8 8.3-61
Cs
10
1E-02
-=case2
—e—Caseb
— 1E-03 - —+—Cases b
>
(@]
£
1E-04 -
1E-05 - W
1E-06 :
1E+3 1E+4 1E+5
()
8.3-61 2,6,8 Se
8.3.4 Cs Se
56
Cs Se 1 3x10° m?s
1x10° m%s 5 6 Cs 3x10° m?/s
Se 2x10%°  4x10™° m?s Cs Se
2
5 6 8.3-62
2
8.3-9
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1E-08 1E-08
= —=—Case5 Cs = —=—Caseb Cs
'E —~Case5 Se E —~Caseb Se
@ 1E-09 @ 1E-09
) )
b b
= ]
# 1E-10 # 1E-10
T T
i i
- £
1E-11 v 1E-11 .
1E+3 1E+4 1E+5 1E+6 1E+3 1E+4 1E+5 1E+6
BB () ZBE5RE(5F)
€Y 5 (b) 6
8.3-62 56
834 Cs
0.0001
0.16 m¥/kg
0.0001 0.001 m3/kg
1 4 7 9
4,000
2
8.3-9 5,6, 10
Cs 2
8.3-63 5 6
1
Cs 1x10™* m¥/kg
1E+0
_ Cs
£ 11 g
T ,
% 1E-2 —#—Case5
E —o—Case6
= - Case10
5 1E-3 ase
1E-4 - . .
1E+2 1E+3 1E+4 1E+5
BIBEFRE(E)
8.3-63 5,6,10 Cs
pH 2,5,6,8 pH 8~9
0.03 0.06 m*kg 1,4,7,9
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pH

1,

56

pH 9~10 0.03 m¥/kg
pH 11
2,7,8,9
2
8.3-9
Se
8.3-64
5 6 1
0 m¥kg
1E+0
5 Se
£ 1E-1
£
% 1E-2 S
R
E 163 46,0004 LARIF O[5 E il /’
66,000 AR I 0(ZE8E
1E-4 : ;
1E+2 1E+3 1E+4 1E+5
28 8¥[8 (4E)
8.3-64 3,4,5,6,10 Se
835
1.5><10° my
2,38 1.3%<10"m/y 2
3,000
4
1=<10°mly
2
1E-2
z
% 1E-3
ii?ng
1E-4
g 1E-5 -
&
E 1E-6
.
1E-7 \ \
1E+2 1E+43 1E+4 1E+5
£25BBEME(4F)
8.3-65 5,6,9,10
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0.01m*kg
4,000

3,4,5 6,10

= Case3
= (Csaed
—e=Case5
o Case6

~—o—Case10

1,37

56,9, 10
8.3-65

~h—Case5
——Case6
—fe—Case9
~&-—Case10

pH



8.3.1
10 8.3-66
8.3-9
06
Case10
05
g 04
® 03
W
W
0.2
0.1
1E+2 1E+3 1E+4 1E+5
238 05 fE(5F)
8.3-66 10
a
Se-79
1 Se-79
8.3-67 10
8
8ppm 9cm
5 0 60cm
1
Stage 0.0016 g/m*/day
2,6,8
1 2 1 2
2
4 6,000 1
6,000
3 8
10 400
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12

25



1,000 700
700
3,5 3 25

Se 25 0.0084 m¥kg 90 0.033 m¥/kg
100 47 9 35
9 25 3

Se-79

1E+7 1E+7
Se-79 Casel Se-79 Case2

fEKHR. EEER BKR, BEEFR
25°C, R ILIEE9cm 25°C, XRIEE9cm

Jury
m
+
(o))
=
m
+
()]

=
m
+

»

A5 REEFIF L=V D
AINYFTI599R(Baly)
= =
P
HSZABEFIF L-YD
AINYFT 7599 X(Bqly)
m
&

1E+3 1E+3
1E+2 1E+3 1E+4 1E+5 1E+6 1E+2 1E+3 1E+4 1E+5 1E+6
B () ZB R (5F)

1 2

1E+7 1E+7
Se-79 Case3 Se-79 Case4
fEKHR. BEER BKR. BRR
146 y5°c, Z{RTEE60cm 25°C. X T EX60cm

[
m
+

[&)]

[y
m
+

S

[y =
: &
HSABEFIAR L -YD
AINYFTI59%5A(Baly)
m
hd

HSRABEEHFIEL-YD
AINYFTIF9IX(Baly)

1E+3
1E+2 1E+3 1E+4 1E+5 1E+6 1E+2 1E+3 1E+4 1E+5 1E+6

BB () AR (E)

-
m
+

w

3 4
8.3-67 Se-79 12

- 8-105 -



1E+7

Se-79 Case5

KR, BEER

90°C. XRI/EE60cm

=
m
+

o

1E+4

HSABbHIER L -VD
ANINYF7I59%5X(Baly)
[

&

1E+7

= =
m m
+ +
o o

AIREEFIFLT-YD
AT YT IZvIR(Baly)
7

Se-79 Case6
BKR,EBR
90°C. XRIEE60cm

1E+3 1E+3
1E+2 1E+3 1E+4 1E+5 1E+6 1E+2 1E+3 1E+4 1E+45 1E+6
BB (5F) B BRI (£F)
5 6
1E+7 1E+7
. Se-79 Case7 . Se-79 Case8
S g fEKR. BiRIRESppm S § BKR, BRRIRESppm
ne 1E+6 25°C. KR TE&9cm o 1E+6 25°C, R T[E&9cm
A X m X
¥R VBN
=R 145 SR 1E+5
% N s N
A A
M = 1E+4 il = 1E+4
X < X <
nNH NH
R 1E+3 R< 1E+3
1E+2 1E+3 1E+4  1E+5 1E+6 1E+2 1E+3 1E+4  1E+5 1E+6
BRI (5F) A5 ()
7 8
1E+7 1E+7
. Se-79 Case9 _ Se-79 Casel0
S g fEKk%. BER S § wAVNEEK, BEER
o & 186 100~47°C., ¥R TE&60cm ae 1E+6 25°C. X1 LB &0cm
K 2145 K R s
AN KN
= 1E+4 D 1E+4
X < X <
N H InH
R <1k R <1643
1E+2 1E+3 1E+4 1E+5 1E+6 1E+2 1E+3 1E+4 1E+5 1E+6
BB (5F) BB (5F)
9 10
8.3-67 Se-79 2/2
Cs135
1 Cs135
8.3-68 10
7 25
8ppm 9cm
5 90 60cm
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1000

Se-79

1E+7

[
m
+

()]

HSRAEEF1IF L=V D
AINYFIS59%5A(Baly)
i &

1E+3

1 3 57 9 10 2 4 6 8
1.5%<10° m/y 137
1.3%<10* mly 2 4 8
Na
2
5 3
2
1 7
2 4 6
3
10 400
700 1
700
Cs135
Cs-135 Casel 1E+7 Cs-135 Case2
k%R, BEER ¢ = BKR. BEEFR
25°C. X R TE&9cm = 5 146 25°C. X R TE&9cm
3
b R 1645
|
I\
H >
X ‘T 1E+4
nH
R
1E+3
1E+2 1E+3 1E+4 1E+45 1E+6 1E+2 1E+3 1E+4 1E+5 1E+6
ERBM(E) eaRmE)
1 2
8.3-68 Cs135 1/3

- 8-107 -



1E+7

Cs-135 Case3
KR, BEER

1E+7

Cs-135 Case4
BKR., BEER

= e Z i
g E‘ 1E+6 25°C. XRIE&E60cm 3‘\, E‘ 1E+6 25°C. XfRT[EE60cm
1) o -~
5 X i X
® R 1645 E R 1E+5
g0 I\
= 1E+4 td = 1E+4
X < X <
NH IE H
R <1k < 1643
1E+2 1E+3 1E+4 1E+5 1E+6 1E+2 1E+3 1E+4 1E+5 1E+6
28 5 (5F) BRI (5F)
3 4
1E+7 Cs-135 Case5 1E+7 Cs-135 Caseb
o= I!§7KTF~ W|ER e = BKR, BRAR
3 & 1646 90°C. XRIT/EE60cm > Sie6 90°C. KR TE&60cm
K N
VAN 12 N
& D 1E45 S fR 1E+5
o R £n
> N
"r§ E' 1E+4 > 1E+4
R< NG
1E+3 R < 1E+3
1E+2 1E+3 1E+4 1E+5 1E+6 1E+2 1E+3 1E+4 1E+5 1E+6
R B EERE (5F) #%2:8 B [ (£F)
5 6
AEH Cs-135 Case? 15k Cs-135 Case8
e 3 fEKHR. BRRIEESppm g3 KR, BBRIEESppm
S 8 1E+6 25°C. XRTEE9cm > & 1E+6 25°C, XRTEE9cm
~ 7 & =
a X N
N 1gss ¥ N
&R 2N
; 1E+4 —h 1E+4
X < X <
N H nH
R <163 < 1643
1E+2  1E+3  1E+4  1E+5  1E+6 1E+2  1E+3  1E+4  1E+5  1E+6
BRI (5F) B B E ()
7 8
8.3-68 Cs135 2/3
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1E+7
Cs-135 Case9

BKR. EEBR
100~47°C, X R L/EE60cm

= =
m m
+ +
v a

AIREEFIFL-YD
AT YT IFVIZR(Baly)
7

1E+7
Cs-135 Casel0

AV MEIREK, & EBR
25°C., R I EE0cm

= =
m m
+ +
x s}

HSREbF1ELE=YD
AT /YT I599X(Bqly)
T

1E+3 1E+3
1E+2 1E+3 1E+4 1E+5 1E+6 1E+2 1E+3 1E+4 1E+5 1E+6
FAEEE () A B5E ()
9 10
8.3-68 Cs135 3/3
b
Se-79
Se-79
8.3-69 Se-79
5 1.01
1E+3 1E+3
Se-79 Casel Se-79 Case2
S= kR, EEE S=s KR, BEE
u g 182 25°C. XRITE&9cm u g 1802 25°C, R LEE9cm
% X kX
£ 2 141 £ R 1em
S0 £
B i B
{f\ﬁ 1E+0 K % 1E+0
R kd=0.005 m*/kg R Kd=0.005 m?/kg
1E-1 1E-1
1E+3 1E+4 1E+5 1E+6 1E+7 1E+8 1E+3 1E+4 1E+5 1E+6 1E+7 1E+8
BB ESRE (4F) B (5F)
1 2
1E+3 1E+3
Se-79 Case3 Se-79 Case4d
Ss BOKR, EEE s KR, EEE
U g 12 25°C, KR TE&60cm o g 1Ee2 25°C, X R TE&60cm
& X X
2 R 1en £ 2 1E+1
o [ e N
B @
ﬁiﬁ 1E+0 .T\ﬁ 1E+0
R Kd=0.005 m3/kg EN] Kd=0.005 m*/kg
1E-1 1E-1
1E+3 1E+4 1E+5 1E+6 1E+7 1E+8 1E+3 1E+4 1E+5 1E+6 1E+7 1E+8
BB (5F) BB (5F)
3 4
8369 Se79 1/2
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1E+3 1E+3
Se-79 Case5 Se-79 Caseb
_§ 3 (5] W § = BKR.EBRER
u g 1802 90°C. X R TE&60cm u g 1E02 90°C. X R T/E&60cm
g X X
2R 1 £ R 1641
gn gn
i E
I’f\ﬁ 1E+0 N 1640
kN Kd=0.005 m*/kg R Kd=0.005 m?/kg I \
1E-1 1E-1
1E+3 1E+4 1E+5 1E+6 1E+7 1E+8 1E+3 1E+4 1E+5 1E+6 1E+7 1E+8
FB B () FBEFR(5F)
5 6
1E+3 1E+3
Se-79 Case7 Se-79 Case8
Ss Bk, BEFREsppm Ss #KR . BIRAESppM
o g 12 25°C. R T E&9cm g 12 25°C. KR ITEE9em
% X % X
& 2 1E+1 & 2 1E+1
gn gn
$E E
{Iﬁﬁ 1E+0 I’,ﬁiﬁ 1E+0
R Kd=0.005 m3/kg R Kd=0.005 m3/kg
1E-1 1E-1
1E+3 1E+4 1E+5 1E+6 1E+7 1E+8 1E+3 1E+4 1E+5 1E+6 1E+7 1E+8
F B R () Z B IR (5F)
7 8
1E+3 1E+3
Se-79 Case9 Se-79 Casel0
Ss PEkR. MmEASR Ss Pk (LA MRIRUK) | BT
u g 182 100~47°C. X TEE60cm N g 182 o5c, ETEE0cm
A %K
£ 2 1E+1 £ R 1E+1
# i
|'r<\ ﬁ 1E+0 rr<\ % 1E+0
R Kd=0.005 m3/kg R Kd=0.005 m3/kg
1E-1 1E-1
1E+3 1E+4 1E+5 1E+6 1E+7 1E+8 1E+3 1E+4 1E+5 1E+6 1E+7 1E+8
#F 8 5 (£F) BB (FF)
9 10
8.3-69 Se79 2/2
Cs135
Cs135 8.3-70
1400
1
Cs135 Cs135 230
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Cs135

1 3 5 7 9 10
2 4
8
1E+4 1E+4
e Cs-135 Casel e Cs-135 Case2
2 3 1643 Bk, MER I T 1643 KR, BEER
;Ll; g 25°C, XRITE&E9cm %‘T; g 25°C. ZIR T B oc
X X
ﬁ N 1E+2 15 N 1E+2
D N
= N 1E+1 =N 1E+1
i i
X & X /%
R ® 1640 N g 1E40
R Kd=0.05 m?/kg R Kd=0.005 m?/kg
1E-1 1E-1
1E+3 1E+4 1E+5 1E+6 1E+7 1E+8 1E+3 1E+4 1E+5 1E+6 1E+7 1E+8
BB () B (5F)
1 2
1E+4 1E+4
e Cs-135 Case3 e Cs-135 Cased
X 3 143 - BKFR, BEEER X 143 KR, BER
;LT; g 25°C. TR IEX60cm ;LT; g_ 25°C. XIRIIEZ60
~
“ X 102 ¥R 162
N N
£ £
= N 1E+1 =D 1E+1
IN g8 1E+0 N IN g 1E+0
R Kd=0.05 m3/kg / \ R Kd=0.005 m*/kg
1E-1 1E-1
1E+3 1E+4 1E+5 1E+6 1E+7 1E+8 1E+3 1E+4 1E+5 1E+6 1E+7 1E+8
BB (4F) BB ESR (5F)
3 4
1E+4 1E+4
o Cs-135 Cases Cs-135 Case6
S5 13 KR, MBS S = 143 AR, BEE
\ O =]
§e 90°C. X TE60cm S8 90°C. X R TE&60c
Y X 1622 % X 1E02
2N RN
£ £
& 1E+1 3 ﬂI\E 1E+1
'Kﬁ 1E+0 Irliﬁ 1E+0
% g 3 4 +
R Kd=0.05 m3/kg /\ R Kd=0.005 m*/kg
1E-1 1E-1
1E+3 1E+4 1E+5 1E+6 1E+7 1E+8 1E+3 1E+4 1E+5 1E+6 1E+7 1E+8
BB EFR () B RE (5F)
5 6
8.3-70 Cs135 1/2
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1E+4 1E+4
s Cs-135 Case7 s Cs-135 Case8
= T 1E+3 - [BKFR. BRIRESppm = T 1E+3 BKFR. BERIRESpp
;‘ﬁ 2 25°C, R ITEE9cm ;‘ﬁ 2 25°C, R ITEE9cm
15. {'f 1E+2 -|$ {’ﬁ 1E+2
N N
£ gn
2N 1E+1 = IV 1E+1
e i
X & X /%
N g 1E+0 N g 1E+0
R Kd=0.05 m?/kg R Kd=0.005 m3/kg
1E-1 1E-1
1E+3 1E+4 1E+5 1E+6 1E+7 1E+8 1E+3 1E+4 1E+5 1E+6 1E+7 1E+8
B (5F) BB ()
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8.4.2

84.1 MC-BUFFER
831 HLW 19cm
70cm 60cm 831
EDZ 10
TRU 25 EDZ
/
84.1 1 2
8.4-5
8.3.1
8.4-5
Temparature 25 Temparature 25
pH 6.8 pH 6.3
Eh -210 mv Eh -210 mv
Na 9.74E-02 mol/L Na 3.37E-01 mol/L
K 2.56E-03 mol/L K 4.09E-03 mol/L
Ca 2.75E-03 mol/L Ca 4.24E-03 mol/L
Mg 2.47E-03 moal/L Mg 6.99E-03 mol/L
2.50E-02 mol/L 192E-01 mol/L
S 9.60E-04 mol/L 1.03E-03 mol/L
Cl 9.00E-02 mol/L Cl 2.61E-01 mol/L
Fe 2.36E-04 mol/L Fe 1.79E-06 mol/L
Si 3.34E-03 mol/L Si 1.74E-03 mol/L
84.1
7
6 2
8.4-6
[ ] (-] [cm] (-]
A 25 60
B 25 60
C 7,000 25 - 60
D 6,000 25 - 60
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8.3.2

a
8.4-28 8.4-31
10 0.72g cm®
5.0E-12m s* pHd 10 30 pH
1 EDZ
8.3.2
EDZ
10 30cm
Pyrite Pyrite
S Pyrite
3 Magnetite H
Eh Pyrite S
Magnetite 10
Pyrite 8.3.2
3 CSH 6
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